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4. BCGER S RAAALT FITHE R Ko ME (A) 23 8MAE K K% (Corporate-Level
Strategy ) (B) ¥ ¥ ¥ {2 & k X % ( Business-Level Strategy ) (C) s # & Rk £ %
(Functional-Level Strategy) (D) R L%¥ T o
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6. M TESES , —FHMT DANNBAIRLELYELE (A) RiELERE (B)
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7. %1% (Fiedler) #R¥BARA-—REFEZLGRYBRAER (A) TRAXEHE (B) ¥
MERBMRERMAE (C) tFERLER (D) RLEHIHE-

8. Which of the organizational control system is heavily dependent on the individual, group, and
the use of teams? (A) market (B) traditional (C) clan (E) strategic.

9. The of the planning process contributes more to high performance than does the
of planning: (A) quality; implementation (B) implementation; quality (C) quality,
extent (D) extent; implementation.

10. According to Herzberg, removing dissatisfying factors from the workplace would result in
which of the following? (A) no dissatisfaction (B) satisfaction (C) no satisfaction (D)
motivation.
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